AR OO 63322
lll Semester B.Com. Examination, April/May 2023

(CBCS) (Repeaters)
COMMERCE
Paper - 3.4 : Financial Management
Time : 3 Hours Max. Marks : 70
Instruction : Answer should be written completely either in English or
in Kannada.
SECTION - A

1. Answer any five sub-questions. Each sub-question carries 2 marks.  (5x2=10)

a) What is Financial Planning ?
Seamord cdnendod BRrIR) TAR.

b) What is Dividend ?
TUYROB OTITEO ?

c) What is operating leverage ?
FoC3RF BT FTees® QoTTeRd 2

d) Mention any 4 sources of working capital. /.~ ;’ﬂg
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e) What do you mean by stock dividend 7 <4 I "
Hedd CRROTIT Aew) Terk &g FRORD 2 s

f) Name two principles of financial plan.
BTN C30eRTF03 HTRO NI E9R.

g) The earnings after tax is ¥ 12,30,000, income tax rate is 38.5%, interest is
% 4,00,000. Find out EBIT.

3ot T080w wweg X 12,30,000, o1t I Be. 38.5, W& X 4,00,000.
EBIT g0z &&000.
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SECTION-B
Answer any three questions. Each question carries 6 marks. (3x6=18)

2. What is dividend ? Explain the various forms of dividend.
eTDLT0Z ROTTESD ? SHP0BT az;ﬁe;mq QIO

3. “Financial management is indispensable in any organisation”. Bring its
importance.

“OBRTTIE 2,000 RO TeATORD UBF T BT, AW 9, 330080, 30303Y, QFOA.

4. From the following information, calculate operating, financial and combined
leverages.
Sales ¥ 8,00,000, Variable cost 25%, Fixed cost X 1,50,000, Tax rate is 50%,
10% Debenture ¥ 1,00,000.
97t BRLITOI 908 LOTNPOT TOOSREL3TES, TEFTORD W0B) B003Rees8 AITe NTTY
FOBI&LEOWD.
=008 X 8,00,000, wmennds &, 25%, AT %5,X 1,50,000, 307 =T 50%,
Je. 10 Mo, N worme¥ X 1,00,000. e

o

5. Prakruthi and Co. is willing to purchase a machinery. The cost of each machiné
is ¥ 50,000, cash inflows are expected to be as under.

-
»

Years Machine P Machine Q@  2/d§
(in%) (in%)

1 15,000 5,000

2 20,000 15,000

3 25,000 20,000

4 15,000 30,000

5 10,000 20,000

Calculate pay back period.
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%8 0BY FoBROKN 2,02 000, IR DoerT VYT, T8 a0z, e3es
? 50 000, SRz w¥mosy 3 $9nzod Nae&%d

Et o3, P (R new) a3, Q R nvQ)
1 15,000 5,000
2 20,000 15,000
3 25,000 20,000
4 15,000 30,000
5 10,000 20,000

0TI @ﬁ@&bQ FORIEGEBCWD.

at 9% rate of interest.

At the end of 1 year¥ 12,000
At the end of 2"year¥ 16,000
At the end of 3 year ¥ 20,000
At the end of 4t year ¥ 24,000

At the end of 5t year 7 28 ,000.

38 FFNT mwéodom T8 IR mﬁm@ 3e3@ 9 To3 W& TTEATT 5 IRy
Ea@aw@odaq $TT I, A3 m“e) 3'53 60:33&@0&36

TRTOFCD FHE ©08,3¢ 3 12,000
POBSOD IR ©0g,T39 X 16,000
SRTFD BRI ©0g,T3¢ ¥ 20,000
FOIoD TR ©oZ,T9 X 24,000

DTFOD TR ©0g 3¢ ¥ 28,000.
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SECTION-C

Answer any three questions. Each question carries fourteen marks. (3x14=42)

7. What is financial plan ? Explain the principles of sound financial plan.

FeomoRy 03RS HOTTER 7 YU BeoFoRd o3pesodd BBNRYRS, TOA.

8. What is working capital ? Explain the factors influencing on working capital.

TOPFICE WORTY F0TTEO ? FoCPFITS WOBTHT SoeeS T,LTs WeTOR
OBV QDWOR.

9. The information given below is related to Madhu Co. Ltd.
Initial investment is ¥ 2,00,000
Salvage value is 10%

Economic life of project 5 years

The expected profit before depreciation and tax is given below (PBDT). ?, \ !
Year 1 2 3 4 5
PBDT 38,000 48,000 58,000 68,000 78,000

P.V. factor at 10% discount rate is
Year 1 2 S 4 5

P.V. factor 0.909 0.826 0.751 0.683 0.621

Based on the above information you are required to calculate ARR and NPV.
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19,

OGO BOTIN FOWORRT WIECID F¢TFrE0STOZT.
Bradne T 2,00,000, 2ved SR, 10%,23e03080 5 MW,
SOTRRTCRT TRFY [B BoriNoE FRTOS wordmy) (PBDT) 8980808033,

Aty 1 2 3 4 5
PBDT 38,000 48,000 58,000 68,000 78,000

3¢. 10 T 8833 T8

ENE 1 2 3 4 5

TRI &T 0.909 0.826 0.751 0.683 0.621

Roed Bk, Dy, WRkECD FTeDOOT ITF TAT TRY, T TR0 LYTONT
TTTRY, FOBIEBOD.

From the following information, calculate pay-back period of both the machines
Xand.

Particulars Machine X Machine Y
Cost of each machine ¥ 5,00,000 % 6,00,000
Life 5 years 6 years

~ Corporate tax rate 50% 50%

Cash inflows (in %)

1%t year 1,10,000 1,80,000
2" year 1,40,000 2,10,000
34 year 1,70,000 2,40,000
4" year 1,60,000 1,90,000

5" year 1,30,000 2,00,000
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Sri Gowri Ltd. Company has equity share capital for ¥ 50,00,000 of 100 per
share. Co. wants to raise further ¥ 30,00,000 for major expansion programme
with following 4 alternative plans.

a) All equity shares.

b) All debentures at 10% interest rate.

ooz, X

¥ 5,00,000

5 &F

50%

1,10,000
1,40,000
1,70,000
1,60,000

1,30,000

oe3, Y
% 6,00,000
6 ==

50%

1,80,000
2,10,000
2,40,000
1,90,000

2,00,000

c) ¥ 10,00,000 from equity and ¥ 20,00,000 from 10% debentures.

d) ¥ 15,00,000 from equity and T 15,00,000 from 10% preference shares.

The corporate tax rate is 50%, calculate EPS of each plan of EBIT is X 8,00,000.
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8,670 AeHR0B BT TR T 50,00,000, T 100 T, Fedd ALl vplatplelalyl
Tocdor DRFLARIM, 37, TR0 SR QN B3E0 T 30,00,000 53, BIC00T)
39503 4 QNG CRERINTDY e30T303R TN,

a) i, BRBT, DR HeoonPor BECIORYTO.
b) 2ut2) HRTBWI 3¢. 100 MO, NPOTT TTECLOR)T.

¢) T 10,00,000 WRRT, Hedbrivom By wved T 20,00,000 Iy Be. 108
OB, ROT BRIV

d) ¥ 15,00,000 =) DR, Hedreon I ¢ves X 15,00,000 = Be. 100
79,83, ReTONLOT THECINHTO.

FoB0 3on o Je. 50 e:?hci%, EBIT % 8,00,000 =538 &,& odpewIed T8
Heos ooy (EPS) BOTOERCD.




